& 1600 P m[an] i [ @ B ]z
LZOEHER ® TN R | | | j j j 313
(7 6 £E) TEROEEH =l 0 20 %0  4omy WINERR Elois|2/0i1|0/0i21|E
' ' ' ' ' 1 =
R %1
e
B 9
GeDxeyhLEn
B B2 M
% B B W

CH -BEREY

ENASERS
BERBEICL
540

BYLSNOITEY

H5EY
HEEES
ht
(k) km
A

EFS- MM
() &M@z
&) was
iE

BiF

@ mye

@ 974

(LIEEEHT)

EFSHRAEHE

10, 867mi

ﬁ a3, Bt
pRAT o

l\\':"ft

VERRAET gt

%




& 1600 % g (BERR)| (TR (% %) %
F @A # TiRNER ! Lo Lo 313
(T 6 =@ r|L P W A%, 7 |B|ojs|zioi1joio 21|
10. 80
16.00 6.55 7.65 3.15
[2.50% %14 8.46 3.00 |
s @
sl8— vmw B sENE g
S8 | REE 1 |Fic % =] “le
- t— ® -
=3 M? Va -
o 128
* = N —
® e N R
8 2.00] 3.00 BT Sl MEE 12.60
= [® BT [\ 450 4.00 o 215 % 80 1 200 %
it S B ’A 1 Tﬁ - + 1
— : 0 mxE s | |
I P srEmarEs L | L 2|6 g
= amalndh ﬂgj 2l : |
ey 3
@ gl KER E[_ﬂ? El BT
BE | — up
| 3 N SginE
uwp o T hadid L% ¥ smns
EHE - . BAXEYE | BE g [RI===
EEME LEEE EREE ES WiE (A0 () S |
== == § 81.0
- 64.0 64.0 64.0 40. 56.0 3200 ‘FB
®@
l 4.00 anl 12.89 l 8.00 l 5.00 l 7.00 J 4.00 J 4.00 J up
[ 48.00 ] $ _
SENE S
64.8
J.4q2.00] |0.50 @
| 360 | 9.00 |
1 12.60 ]

1 B F E K

wER 128m




& 1/5 00 3 g (BERR)|  (HETR) (% %) %
F @A # TiRNER ! Lo Lo 313
(Bf0 6 #E) =2 ? o s Eomy ’ ~ |Zlois|2i0i1]0i0i2:1 |E
I I I I I I =
10.80
7.65 3.15
e 2
ERES 0 -
@ E£20Q g
77.76 |
I 1
[ \‘ X g
N el o 12.60
7.00 200 300 400 4.00 4.00 20 215 17.85 : ;060 5.00 ]
I 1 T T ! 1 1t 1 . 1 1
2 sy o Ny EEEER P EHLFERNEME| (px 2
& wfﬂ).i N 140 _(_51'52 -1 - e
E @ KER BT KER < %
BT_| =| |5 o|DN
2 | UP DN % 5 37 43 DN UP | 2 g BRZE
-8 TEBE RERE LTEHE TEHE e 8= - ==
= B (€-359)
= = == 81.0
64.0 64.0 64.0 64.0 32.0 32.0 _
l 4.00 l 8.00 J 8.00 J 8.00 l 8.00 l 4.00 J 4.00 l 4.00 J DN ]
I 18.00 ] :
1 $¥E g
o 64.8
. - | 360 | 9.00 |
2 IZ% M| X 1 12.60 |




& o0 s 0| @een| o | o 8 |z
I s TN i o R 313
(+H o #m) FEE e g e e zeff] PR JEloalziojijooz 18
48.00
I 12.00 4.00 4.00 4.00 4.00 2.15 17.85 I
I I I I I I |
2 5 F B FER #ﬂﬁ;ﬁo B o 100
o BT | 3.04
2 |Up DN Wl g
aE HEuE BTz wiEnE wENE BENE : g Kih ™
- =57 [EF s =
= LT B o [ o] [
q o q . T
| aw | 8.00 | a0 | 400 | 8.00 | 8.00 | 8.00 | aw | | ais | aso [os0|2s0] 20| 407 |
20. 65
£k I B4 EE1ETEE -
3 B ¥ m = 2y T—IftEETEER
15.00 32.90 5.50
[.50 2.60 1 AOT
2b0 2o
- 2.6
MA
AELL
o
1.3
BE 6 ¢
i $27)—7
E17U—F 2F—T B3
25.5
: wanz, | 6.9  _|
3| 1 s e z
= _ 2.6 _
9.5 “Tg
IS 55.5 832.5 y%\ é?
E BT poe sam 25
BRI BT o
= b BRM 1 HE =
el g §¥,-, e BF | k¥ = #? 9“55 w| w
- O D B o O B D 0 6.8 17 N
6.84 3.20
l 7.40 6. 40 6.40 JSGOJZGOJ 6.60 6.30 115(;260‘140‘
7.60 6.96 2.25(2.10| 2.80 [2.20 (2.10| 2.99 | 2.40 12.40 3.10 1.0 5.50
o)
e B AN E B 15 INPRREERE 745
hEEREAEE 792m EH1,53Tm T— KB 52m?

-4 -

D




